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BES-124 : LANGUAGE ACROSS THE CURRICULUM 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : All questions are compulsory. All questions carry 

equal weightage. 

1. Answer the following question in about 
600 words : 

"Language may vary according to the region and 
the socio-economic status of the speakers." 
Discuss the diversity in language in India in the 
light of this statement and its implications on 
language instruction. 

OR 
"Language is a vehicle for facilitating learning." 
In the light of this statement, discuss how 
competence in reading and writing can facilitate 
learning in Science and Mathematics. 

2. Answer the following question in about 
600 words : 

What is the difference between 'dialect' and 
`register' ? Give examples to support your answer. 

OR 
How is 'academic register' or 'academic language' 
different from the language of everyday use ? 
Give examples from any subject of your choice. 
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3. Answer any four of the following questions in 

about 150 words each : 

(a) What is a standard dialect ? 

(b) How is reading different from reading , 

comprehension ? 

(c) What are the implications of schema theory 
on teaching reading comprehension ? 

(d) What is the difference between a narrative 
and a persuasive text ? Give an example 
from any subject. 

(e) What is the difference between fluent and 
accurate speaking ? Give examples from 
any subject to illustrate your answer. 

(0 	Distinguish between the purposes of an 
argumentative essay and a descriptive 
essay. 

4. Answer the following question in about 

600 words : 

Discuss the different stages of the reading 

process. Discuss 'prediction' as a 'while reading' 

strategy and set up a prediction task exercise for 

students in any subject. 
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